MIAMI-DADE
COUNTY

MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building
N.I Hlinois, LLC dba SAFE-AIR DOWCO

1855 South 54™ Ave.

Cicero, IL 60804

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed and accepted by Miami-Dade
County RER-Product Control Section to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance if it is determined by Miami-Dade County Product Control Section
that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model 1606CM Aluminum Louver System

APPROVAL DOCUMENT: Drawing No. 1606CM-NOA, titled “BOM, Notes, Anchors, Elevation, Mull
Details, Assembly Details, Head/Sill, Jamb, Profiles”, sheets 1 through 8 of 8, prepared by manufacturer,
dated 05/27/2021, signed and sealed by Lucas A. Turner, P.E. on 05/09/2025, bearing the Miami-Dade
County Product Control Approval stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Houston, TX, model/series,
and following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
LIMITATION: This system is to be installed in a location where the room behind the louver is designed to drain
water penetrating into the room, and the room will house water resistant/waterproof equipment, components, or supplies.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section
of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

é@' NOA No. 25-0415.04
MIAMI' LY Expiration Date: November 2, 2028
05/21/25 Approval Date: May 29, 2025

Page 1



N.L Illinois, LL.C dba SAFE-AIR DOWCO

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under NOA # 23-0823.04 and new

A. DRAWINGS
1. Drawing No. 1606CM-NOA, titled “BOM, Notes, Anchors, Elevation, Mull Details, Assembly
Details, Head/Sill, Jamb, Profiles”, sheets 1 through 8 of 8, prepared by manufacturer, dated
05/27/2021, signed and sealed by Lucas A. Turner, P.E. on 05/09/2025.

B. TESTS “Submitted under NOA # 23-0823.04”
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of Model 1606CM Louver Systems, prepared by Intertek, Test
Report No. K4982.01-801-18-R0, dated 04/08/2022, signed and sealed by Tyler Westerling,
P.E.

2. Test Report on Test Method for Louvers Impacted by Wind Borne Debris per ANSI/AMCA
540-13 on a Model 1606CM Aluminum Louver Systems, prepared by Intertek, Test Report
No. K4980.01-801-18-R1, dated 10/20/2021, revised on 03/01/2022, signed and sealed by
Tyler Westerling, P.E.

3. Test Report on High Velocity Wind Driven Rain Resistance per ANSI/AMCA 550-15on a
Model 1606CM Aluminum Louver System, prepared by Intertek, Test Report No. K4981.01-
801-44-R1, dated 05/13/2021, revised on 05/17/2021, signed and sealed by Tyler Westerling,
P.E.

C. CALCULATIONS “Submitted under NOA # 23-0823.04”
1. Louver structural calculations, dated 08/09/2023, prepared by Turner Engineering Consulting,
Inc., signed and sealed by Lucas A. Turner, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Private label agreement dated 02/05/2025.

“Submitted under NOA # 23-0823.04”
2. Statement letter of code conformance to the FBC, 7™ Edition (2020) and FBC, 8™ Edition
(2023), issued by Turner Engineering Consulting, Inc., dated 08/09/2023, signed and sealed
by Lucas A. Turner, P.E.
3. Statement letter of no financial interest issued by Turner Engineering Consulting, Inc., dated

08/09/2023, signed and sealed by Lucas A. Turner, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0415.04

Expiration Date: November 2, 2028
Approval Date: May 29, 2025




A [ B

E

| F |

G

H |

] |

K |

L

GENERAL NOTES
1. THE 1606CM LOUVER SYSTEM SHOWN IN THE CONFIGURATIONS HEREIN IS
DESIGNED AND MANUFACTURED TO COMPLY WITH THE REQUIREMENTS OF THE
7TH EDITION <2020> AND 8TH EDITION (2023> FLORIDA BUILDING CODES

INCLUDING THE HIGH VELOCITY HURRICANE ZONE PROVISIONS, FOR
APPLICATIONS WITH DESIGN PRESSURE (ASD> REQUIREMENTS 0OF 120 PSF OR

LESS.

2. THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH TAS 100A, TAS 201,

TAS 202, TAS 203, AMCA 540 AND AMCA 550,
DETAILS SEE INTERTEK TEST REPORTS K4980.01-801-18-R1,

AND K4982.01-801-18-R0.
3. THIS PRODUCT AS SHOWN IN THIS DRAWING IS MISSILE LEVEL D LARGE
MISSILE IMPACT RESISTANT, AND DOES NOT REQUIRE THE USE OF IMPACT
PROTECTIVE DEVICES (SHUTTERS> IN WINDBORNE DEBRIS REGIONS,
4. THIS LOUVER SYSTEM HAS BEEN TESTED IN ACCORDANCE WITH TAS 100A TO
PREVENT WIND-DRIVEN RAIN FROM PENETRATING THE SPACE BEHIND THE
LOUVER FOR WIND SPEEDS UP TO 110 MPH AND INSTALLATION IN HEIGHTS UP
O 33 FT.
S THIS LOUVER SYSTEM IS NON-BEARING AND IS NOT DESIGNED TO
WITHSTAND BUILDING DEAD LOADS.
6. THE 4/3 ALLOWABLE STRESS INCREASE FACTOR (SHORT-TERM INCREASE
FACTORY> HAS NOT BEEN USED IN THE ANCHOR ANALYSIS FOR THIS SYSTEM.

THE 1.6 Cd

SUBSTRATE.
7. THE OPENING SUBSTRATE MATERIALS (FRAMING, MASONRY, BUCKS) AND
ATTACHMENT OF BUCKS 7O THE SUBSTRATE ARE BY OTHERS AND SHALL BE
VERIFIED BY THE ARCHITECT OR ENGINEER OF RECORD OR AS APPROVED BY

THE AUTHORITY HAVING JURISBDICTION (AHWD,
FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED BY 0OTHERS IN

FOR FULL PRODUCT TESTING

K4981.01-801-44-R1,

FACTOR WAS USED IN THE ANALYSIS OF ANCHORAGE INTO wOOD

BUCKING, OPENINGS, & BUCKING

ACCORDANCE WITH THE FBC TO TRANSFER SUPERIMPOSED LOADS TO THE
STRUCTURE.,
8, DISSIMILAR MATERIALS THAT COME INTO CONTACT SHALL BE COATED OR

WOOD BUCKS, IF
USED, SHALL BE PRESSURE TREATED, WITH EITHER A TREATMENT OR COATING

OTHERWISE PROTECTED TO PREVENT GALVANIC REACTIONS,

COMPATIBLE WITH THIS PRODUCT.
9, ANCHORAGE NOTES:

INSTALL PRODUCTS WITH MAXIMUM SHIM GAP, MINIMUM

EDGE DISTANCE AND EMBEDMENT, AND WITH FASTENER TYPE AS SHOWN IN THE
DETAILS AND AS INDICATED IN TABLE 1 FOR THE APPROPRIATE SUBSTRATE, OR
AS APPROVED, SIGNED, AND SEALED BY A FLORIDA-REGISTERED PROFESSIONAL

ENGINEER ON A SITE-SPECIFIC BASIS,

ALL ANCHORS USED SHALL BE OF A

MATERIAL OR HAVE A COATING COMPATIBLE WITH THE OPENING SUBSTRATE

AND ALL OTHER LOUVER MATERIALS.
LOCATION SHOWN IN THE ELEVATION,

INSTALL ONE ANCHOR AT EACH
INSTALL SHIMS AT EACH ANCHOR

LOCATION WHERE A GAP 0OF 1/16” DR GREATER EXISTS BETWEEN PRODUCT

TABLE 2. 3X6X1/4 ALUMINUM MULL CLIP (ITEM 157) ATTACHMENT DIRECTLY TO SUBSTRATE, ANCHOR QUANTITY / CLIP LENGTH REQUIREMENTS
(SEE TABLE 1 FOR FULL DESCRIPTION OF ANCHOR TYPES / SUBSTRATES)

MULLION )
DESIGN
PRESSURE MAX. LOUVER ACTUAL HEIGHT (IN.)

(PSF) ANCHOR ID 72 84 96 108 120
A (3/8" SCREW-BOLT+ /CONC.) | QTY6/12"CLIP QTY 6 /12" CLIP QTY 7 /12" CLIP QTY 8 /15" CLIP QTY9/15"CLIP }—
B (3/8" SCREW-BOLT+ / CMU) QTY 8/ 15" CLIP QTY9/15"CLIP | QTY10/18"CLIP | QTY11/18"CLIP | QTY 13/21" CLIP

100 C (3/8"-16 BOLT / STEEL) QTY 4 /9" CLIP QTY 4 /9" CLIP Qry4/9"CLIp QTY 4 /9" CLIP QIY4 /9" CLIP
D (3/8" LAG / WOOD) QTY 6/12" CLIP QTY 6/12" CLIP QTY 6 /12" CLIP QTY 6 /12" CLIP QTY7/12" CLIP 5
E (1/2" SCREW-BOLT+ / CONC.) QTY 4 /9" CLIP QTY 4/9"CLIP QTY5/9"CLIP QY6 /12" CLIP QTY 6 /12" CLIP
F (1/2" LAG / WOOD) QTY 4 /9" CLIP QTY 4 /9" CLIP QTY 4/9" CLIP Q1Y 4 /9" CLIP QTY 5/9" CLIP
A(3/8" SCREW-BOLT+/CONC.) | QTY6/12"CLIP QTY 7 /12" CLIP QTY 8 /15" CLIP QTY9/15"CLIP | QTY 10/ 18" CLIP
B (3/8" SCREW-BOLT+ / CMU) QTY8/15"CLIP | QTY10/18"CLIP { QTY11/18"CLIP | QTY12/21"CLIP | QTY14/24"CLIP —

110 C (3/8"-16 BOLT / STEEL) QTY 4 /9" CLIP QTY4/9"CLIP Qry4/9"CcLp QTY 4 /9" CLIP QTY 4 /9" CLIP
D (3/8" LAG / WOOD) QTY 6/ 12" CLIP QTY 6 /12" CLIP QTY 6/ 12" CLIP QTY 6 /12" CLIP QTY8 /15" CLIP
E (1/2" SCREW-BOLT+/ CONC.) QTY 4 /9" CLIP QTY5/9"CLIP QrY5/9" CLIP QTY 6 /12" CLIP QTY7/12"CLIP 3
F(1/2" LAG / WOOD) QTY 4 /9" CLIP QTY 4 /9" CLIP QTY 4 /9" CLIP QTY5/9" CLIP QTY5/9" CLIP
A(3/8" SCREW-BOLT+/CONC.) | QTY6/12"CLIP QTY 7/12" CLIP QTY 8 /15" CLIP QTY9/15"CLIP | QTY10/18"CLIP
B (3/8" SCREW-BOLT+ / CMU) QTY9/15"CLIP | QTY11/18"CLIP | QTY12/21"CLIP | QTY14/24"CLIP | QTY 14/24" CLIP

120 C(3/8"-16 BOLT / STEEL) QTY4/9"CLIP QTY 4 /9" CLIP QTY 4 /9" CLIP QTY 4 /9" CLIP QTY4/9"CLIP |
D (3/8" LAG / WOOD) QTY 6/ 12" CLIP QTY 6/ 12" CLIP Q1Y 7 /12" CLIP QTY 7 /12" CLIP QTY 9/ 15" CLIP
E (1/2" SCREW-BOLT+ / CONC.) QTY4/9"CLIP QTY5/9"CLIP QTY 6/12" CLIP QTY7/12" CLIP QTY 7 /12" CLIP
F (1/2" LAG / WOOD) QTY4 /9" CLIP QTY 4 /9" CLIP QTY5/9"CLIP Qry5/9" CLIP Qry6/12"CLIP |,

TABLE DF CONTENTS

SHEET DESCRIPTION

1 NOTES, ANCHOR TABLE 1
FRAME AND SUBSTRATE. SHIMS SHALL BE LOAD-BEARING (PLASTIC DR 5 TYP. ELEVATION, MULLION DETAILS
METALLIC) AND CAPABLE OF TRANSFERRING LOADS TO SUBSTRATE. SPECIFIED 5 LOUVER ASSEMBLY DETALLS
ANCHOR EMBEDMENT TO SUBSTRATE SHALL BE BEYOND WALL FINISH OR 4 HEAD/SILL INSTALL. DIREGTLY TO SUBSTRATE
STUCCO. S HEAD/SILL INSTALL. W/ ALUM. MOUNTING ANGLE, 6" WALL
&  HEAD/SILL INSTALL. W/ STEFL MOUNTING ANGLE
TABLE 1. INSTALLATION ANCHOR REQUIREMENTS (NOTE: THIS TABLE APPLIES TO ANCHORAGE OF 3X6X1/4 g é?ﬂ? EII';JS&Q%QIEEQ PROFILES
MULL AND JAMB CLIPS DIRECTLY TO SUBSTRATE, AS WELL AS 4X4X3/8 MOUNTING ANGLES TO SUBSTRATE) %
ANCHOR ANCHOR TO OPENING MINIMUM | MINIMUM EDGE williidisg ity
D OPENING SUBSTRATE FASTENER TYPE EMBEDMENT | DISTANCE \\\ \30*\5’3‘ Ty,
A |SOLID UNCRACKED CONCRETE  [3/8" DEWALT COATED CARBON ” 11 1
(4000 PSIMIN.) STEEL SCREW-BOLT+ s AFE » Al R
- .
GROUT- FILLED CMU (ASTMC-90 |3/8" DEWALT COATED CARBON ] ] PRODUCT APPROVED
B 3 1/4 1112 N.I. ILLINOIS, LLC dba SAFE-AIR DOWCO
WITH 1,500 PSI MIN. GROUT STEEL SCREW-BOLT ing with the Florid '
0 ) S . Buitding Lo, ith the Florida 1855 SOUTH 54TH AVE.  CICERO, IL 60804
c 14" THICK MIN. 3/8"-16 BOLT{ 300 SERIES COND. 174" 916" NOA-No. 25-0415.04 Tel. 708-652-9100 Fax 708-652-9100
A36 MIN. STEEL CW SS (65ksi MIN. YIELD)
275" LAG SOREW. 300 SEREES - Approval Date 05/29/2025 REV | BY DESCRIPTION DATE
D [SOUTHERN PINE (SG = 085 MIN) |30 550 e o TN, YIELD) 3" 112" By [ Z
SOLID UNCRACKED CONCRETE  |1/2" DEWALT COATED CARBON . ] Miami-Dade Product Control TURNER ENGINEERING & : :
E 2 1/ 1 3/ CONSULTING, INC. DWN BY: feortinas SCALE: NTS
(4000 PS'M'N) STEEL SCREW-BOLT+ DATE: 5/27/2021 SHEET: 1 OF 8
2428 OLD NATGHEZ TRACE TRL. DATE: 5/21/2021 e
F  |SOUTHERN PINE (SG=0.55 MIN) |2 -AG SCREW, 300 SERIES 3" on CAMDEN, TN, 38320 " BOM, NOTES, ANCHORS
(SG=085MN) oD, Cw SS (B5ksi MIN. YIELD) PH 941-380-1574 —y 1606cM—noa | ©
A ] B ] C ] D E F G H 3 K L



Carlos Utrera
New Stamp


A B C | | E [ F G H 3 | K | L
B EXT.
OVERALL ACTUAL LOUVER WIDTH =
SUM OF ACTUAL WIDTHS OF ALL MULLED LOUVERS /‘TYP.
60" ACTUAL LOUVER TYP. 3" MAX
(AN (AYAN T MAX. WIDTH, TYP FRO '
- | | ’ ’ ' OM ENDS,
l_ _l 36 s oo s ! 6” MAX. OC.
! — = i o
127 MAX.| i ‘ i || 127 MAX.
1[_‘1 j
: 1 3" MAX. FROM
24" |2 b - V. ENDS, 6" MAX. O.C.
MAX. | X 24”7 MAX.
0.C ||= : 0.C VERTICAL MULLION ASSEMBLY
L = :
i 120" MAX,
@."_} ' ACTUAL
s LOUVER
i HEIGHT
|
|
i
(AN '
Dl = SIS
L:_ : : j :___I
Hee oalfile o salttls s
g i
» =l
1
! o e
{ — i i i
1 .se 1 . ehe ;
T AN (A AN = | \\\‘[\sm
oy YN, S P
o 0 ¢ \ -
::{:"?';'! NO. ..'":{:"‘ w
sy Meseor V2 | G\ SAFE-AIR
TYPICAL ELEVATION PR DT A ROVED 2 =63 S | NLILLINOIS, LLC dba SAFE-AIR DOWCO
ildi PERIA &?&?EQ@ S
Building Gode .;,{&\ PN 1855 SOUTH 54TH AVE.  CICERO, IL 60804
NOA-No. 25-0415.04 f}f Ko 4 ?ﬂmﬁ """""" @:\f? Tel. 708-652-9100 Fax 708-652-9100
Approval Date 05/29/2025 "«‘fff;j %ﬁaﬁ \\j\\ REV | BY DESCRIPTION DATE
By |/ rnali
Miami-Dade Product Control LUCAS TURNER, FL PE 58201
TURNER ENGINEERING & T :
228 O SN OLS Tho Tr. [DE S
CAMDEN, TN, 38320 ' SHEET DESCRIPTION: ELEVATION, MULL DET. Rgv
PH 941-380-1574 owe: 1606CM—NOA

H J

K L



Carlos Utrera
New Stamp


FOR INSTALLATION
DETAILS, SEE

SHEETS 4 AND 5 — FOR INSTALLATION

DETAILS, SEE

5 SHEET 6

LOUVER OPENING

/‘ 4 PER BLADE
@ EACH END

:
E,

;
B2-017/A/B 7f\5

®
¢

ACTUAL LOUVER HEIGHT

1/4" MAX.__| EXT.
SHIM ~—ACTUAL LOUVER WIDTH—
A ~—LOUVER OPENING—
H// \ B

JAMB

DETAIL
PRODUCT APPROVED
as _co_mplging with the Florida
Building Code
NOA-No. 25-0415.04

S Approval Date 05/29/2025
T
% By
. Miami-Dade Product Control
s L SSONORSA TRy
S ey Y
S @0+ S ¢z
~ BLADE SUPPORT AND Swf No. 58207 172
- BLADE SUPPORT ANGLE S —g o s SAFE .Al P
—— NOT SHOWN FOR i R ms | - A -
f CLARITY. 5 : P N.L ILLINOIS, LLC dba SAFE-AIR DOWCO

1855 SOUTH 54TH AVE.  CICERO, IL 60804

Tel. 708-652-9100 Fax 708-652-9100
ﬁ VERTICAL SECTION DETAIL wTov S
5/9/2025
LUCAS TURNER, FL PE 58201

TURNER ENGINEERING & DWN BY: feortinas SCALE: NTS

CONSULTING, INC. DAt 5737 /021 SHEET: 3 OF B
2428 OLD NATCHEZ TRACE TRI.. . -

CAMDEN. TN 38320 SHEET DESCRIPTION: ASSEMBLY DETAILS REV

PH 941-380-1574 DWG: 1606CM~NOA 0

B C D E F G H ] K L



Carlos Utrera
New Stamp


A B [ C } D E | F | G | H 3 | K | L

8 PER CLIP @ 21.000
MIN. EDGE DISTANCE, TYP., —21.000———~
/ : EACH MULL END SEE TABLE 1, SHT 1
— — _— —_ — - —_ - M'N [e] o) le) o] (o] o
SUBSTRATE BY FMBEDMENT,
/65) ! OTHERS, TYP., ~ — TYP., SEE ° ° ° ° ° ° °
' SEE TABLE 1, TABLE 1, =
11 R ) {1 A 1.1 T 1 T 1T SHT 1 SHT 1 18'000
| g g e} t ";j, - =z 1 '\@ ) o} o o) o)
o O \\_} fe] o o] [+ [e] )
! i TYP. e
[=——15.000——
8 @ 8 @
{ | o o ) [¢]
[oJR RIS
T ~——12.000——— =—9.000
(R 3x6x1/4” ATTACHMENT TO LOUVER ~9.000
\&/ WITH MULL CLIP DIRECT TO SUBSTRATE g & o o o o o
| %
—= o o o o o o o
b LEAD /oL ATeACHEERT  (57) MULL CLIP TO SUBSTRATE
24.000 : ALTERNATE SIZE LAYOUTS (FOLLOW
10 SUBSTRATE SAME EDGE / HOLE SPACING AS 24”)
OMIT FOR EVEN # OF ANCHORS
O O O :O O 0] O
6.000 $.391 TYP. FOR 3/8’; ANCHORS, 4195 ’
/“ ®.516 TYP. FOR 1/2" ANCHORS I NOTE: THE WEIGHT OF
@ 0 0 o o) 0 o} Oo— THE LOUVER ASSEMBLY gng,ggﬁnTgevli’tI;l}lg\gﬁg o
o 1.500 MUST BE SUPPORTED :gi:i;;g_&dezs_oﬂs on
1.500 - 3.000 TYP. 3000 TYP ? NBOYT —l:[.'_ll_iEE SI\AUUBL?_TRCAL[TPES’ Approval Date 05/29/2025
TYP. ' : ‘
3.000 TYP. awiibbeiee, o
’—l l“—810 Q\\X\BC’F\%'D—JR&‘Z?"’/ Miami-Dade Product Control
o0 '—7}81 ! SEE TABLE 2, SHEET 1 & ossagl %
] + | ’ 688 ) ::'5 rr”#f": ‘-'-. ’nf?é
3.000 ’¢' '¢ i et NO ER7N4 o
4 1.688 1  FOR MULL CLIP LENGTH S0 BN e G T
¢ 0% b} - oy =
A I S A IS DS SN NN SNV A MO S S | I-""’l“‘l’——lx"”l”r"_(_l—_—I—F"'"l_l___l"r'—'“l“‘l"""' '844 f AND ANCH OR QU AN Tl TY ga% ,i;é? {}é%fg m SAFE -AI R
2,133 ’ REQUIREMENTS BY E:»‘f%}v i;g'if Q;%;? N.L ILLINOIS, LLC dba SAFE-AIR DOWCO
2750 == QTY. 8 LOUVER SIZE / DP. IF L5 P 1855 SOUTH 54TH AVE.  CICERO, IL 60804
” TABLE 2 REQUIRES AN f”;f}},'?‘ﬁ*‘i&%:\\\ Tel. 708-652-9100 Fax 708-652-9100
@ 3x6x1/4" ALUMINUM MULL CLIP FOR y STy — -
ATTACHMENT TO SUBSTRATE ANEJ%ESNUDOB%TOZSE nantR
(9” TO 24" LENGTHS, 24" LAYOUT SHOWN ABOVE, SEE ALTERNATE MULL ANCHOR IN THE CENTER T”FE%E&E“L'?&E@'&“G& S N S
CLIP TO SUBSTRATE SIZE LAYOUTS THIS SHEET FOR SMALLER WIDTHS) JOLE OF THE CLIP 2428 00 ATCIEZ TRUGE T e S L SIS
PH 941-380-1574 DWG: 1606CM—NOA 0
A ( B | c | D | E [ F | G [ H 3 K | L



Carlos Utrera
New Stamp


| H

4 PER CLIP @
EACH MULL END

8 PER CLIP @

ﬁ EACH MULL END

|
\D O O O
u
= T} T
o 0od o -
ey
o o
o o
|
@ 8 8 8

o

MULL ATTACHMENT WITH 3x6x1/4” MOUNTING

CLIP_AND 4x4x3/8” MOUNTING ANGLE

12.000
®.391
6.000 / TYP. —2.250
@ @) O
1.000
TYP. “l = 5.000 TYP.
—{ =810 R
I .7481 : !
L | 688
--Q00 f’; : 1 688 |
e — — A W -] _.844}
J L 2135 |
2.750 QTY. 8

&

3x6x1/4” ALUMINUM MULL CLIP FOR

SUBSTRATE BY
OTHERS, TYP., SEE
QTY. 4
PER CUP @.391 (ATTACHMENT HOLES
o Top TO MULL CLIP)
4.000 | § 9 T
| 2.250
- — 1/4" MAX. il - - i
SHIM 1.000— 5.000 TYP.
: i t $.391 (ATTACHMENT HOLES
PER CLIP @/“ TVYP. TO SUBSTRATE)
o) o O—
4.000 }
Ly 2.250
EXT, .938— 3.375 TYP.
4x4x3 /8" ALUMINUM
MOUNTING ANGLE @ MULLS
1/4” MAX.
9 | SHIM
QTY. 8 | *
PER CLIP ="
2—1/4" MAX., TYP.
SEE MIN. EDGE
DIST., TABLE 1,
SHEET 1
MIN. EMBEDMENT, PRODUCT APPROVED
ory. 4 TYP, SEE gﬁﬁgmglg:,ndgewnh the Florida
‘ TABLE 1, SHT 1 NOA-No. 25-0415.04
PER CLIP Approval Date 05/29/2025
Ix6x1 /4" ALUMINUM MULL CLIP HEAD/SILL OPTIONAL By /

ATTACHMENT TO MOUNTING ANGLE, 6" WALL

MOUNTING ANGLE

NOTE: THE WEIGHT OF

LOUVER ASSEMBLY MUST BE
SUPPORTED BY THE SUBSTRATE,

NOT THE MULL CLIPS

MOUNTING ANGLES.

Miami-Dade Product Control

THE

OR

2428 OLD NATCHEZ TRACE TRL.
CAMDEN, TN, 38320
PH 941-380-1574

S/\ SAFE-AIR

N.L ILLINOIS, LLC dba SAFE-AIR DOWCO

1855 SOUTH 54TH AVE.
Tel. 708-652-9100

CICERO, IL 60804
Fax 708-652-9100

REV

BY

DESCRIPTION DATE

LUCAS TURNER FL PE 58201
TURNER ENGINEERING &

CONSULTING, INC,

DWN BY: feortinas

SCALE: NTS

DATE: 5/27/2021

SHEET; 5 OF 8

SHEET DESCRIPTION:

HEAD/SILL, 6" WALL REV

DWG:

1606CM—NOA 0

J

K

| L



Carlos Utrera
New Stamp


A | B | c | D E F G | H | 3 K L
EACH MULL END EACH MULL END ’ O
N T o T ~—UP TO 12— TABLE 1, SHT 1 - 12.000
QTY. 4
N CHa 0301 TN FOE
o o o sdoo | ¥ TP o T
| l 2.250
:11 ::, :: @ 1/4” MAX HEH H i +
= 5ot 5 = | SHIM 1.000—-] 5.000 TYP.
e o o e . f
i | 2291 A et
| | PER CLIP 4 do @,/_TYP.O o .
__ . ‘T
® ® 8 ® @ 2.%50
°° o2 EXT. .938— 3.375 TYP.
N e TR P 5 4x4x3 /8" ALUMINUM
(AN MULL ATTACHMENT WITH 3xXx1/2” @’%% MOUI\TTI)&G ANGLE @ MULLS
N8/ STEEL MOUNTING CLIP AND 4x4x3/8” /4 wax
MOUNTING ANGLE - SHIM
f
12.000
: 2—1/4" MAX., TYP.
SEE MIN. EDGE
¢.591 2,250 DIST., TABLE 1,
/TYP. MIN. SHEET 1
VARIES| 7 0 MIN. EMBEDMENT, PRODUCT APPROVED
TYP, SEE as _co_mplyLngewith the Florida
VARIES TABLE 1, SHT 1 :gltlﬁg.c ‘ 25-0415.04
RN R ) Approval Date 05/29/2025
1000 5 000 3xXx1/2” STEEL MULL CLIP HEAD/SILL OPTIONAL ——==
TYP — TYP ATTACHMENT TO UP TO 1 2” WALL WI TH 4’)(4)(3 /8” I\Bllli’am|—Dade Product Control
.810 ALUMINUM MOUNTING ANGLE o
_1 lrﬁ 781 | S5 33&?.53(%/"?5 2
B | e M e gm g e, s
L3 T, 1 688 N
3.000 & $ . e S N e | i
S = S o gm0 V2 | /A SAFE-AIR
J L\_ 0135 | NOTE: THE WEIGHT OF THE 29 Trcmos AT | 1655 S0UTHS4TH AVE. | GIOERO, I b0808
2.750 QTY. 8 LOUVER ASSEMBLY MUST BE %«%}& L o @% Tel. 708-652-9100 Fax 708-652-9100
BXXX»] /2” STEEL MULL CL'P FOR SUPPORTED BY THE SUBSTRATE, {’J,@i; ... a‘g'{;@ """" \% };2‘1\\\:\ REV) BY DESCRIPTION DATE
ATTACHMENT TO MOUNTING ANGLE ot THE MULL CLIPS OR s HRAGH L o
MOUNTING ANGLES. TURNER ENGINEERING & DWN BY. feortings SCALE. TS
2428 OLD NATCHEZ TRACE TRL. DATE: S/27/20M SUELT. S OEE
CAMDEN, Th, 38920 : HEAD/SILL ANCHORAGE 3
PH 941-380-1574 DWG: 1608CM—NOA

H J

K ] L



Carlos Utrera
New Stamp


K [ L
MIN. EMBEDMENT,
1 TYP., SEE
TABLE 1, SHT 1

MIN. EMBEDMENT,
a —  TYP., SEE
TABLE 1, SHT 1
MIN. EDGE
DISTANCE, 1
SEE TABLE 1,
2 SHT 1 6"
SUBSTRATE BY 4.000 ¢
] OTHERS, TYP., SEE-] 2—1/4" MAX., TYP. -
TABLE 1, SHT 1 SEE MIN. EDGE _| I e i = -
" EXT. DIST., TABLE 1, 1/4” MAX. 1.000
T/ArSHmAX JL SHEET 1 SHIM =) 5.000 4.000
; 3x6x1/4” ALUM. JAMB CLIP g
(R 3x6x1/4° ALUM. JAMB CLIP OPTIONAL ATTACHMENT TO 6" v CTE
_ \Z’ ATTACHMENT TO SUBSTRATF ANGLE @ JAMBS
WALL WITH MOUNTING ANGLE
QTY. 2 PER CLIP
(69 (6359(59 arv. 2 PER cLP
$.391 TYP. MIN.
6.000 VARIES e EMBED., |
$.391 TYP. . &
/ b4 "TYP., SEE 2‘1/4” MIN
¥ i TABLE 1 '
VARIES ’
2.250 ST PRODUCT ATPROVED.
+ In = g i L I QTY. 3 PER CLIP NOA NG, o5 0415.04
1ngo___ 5 000 1T$(F))O__~ 5.000 z Approval Date 05/29/2025
[~———7.000——f ———7.000——f SO T 2, Viami-Dade Product ControT~ | —
UP TO 12" & R
3.000 ¢266 | 3000 | 5.266 é‘f’ No. 56201 "‘\,@%
@ & o § e O]
B e = S S = .y VPV N 5 | G\ SAFE-AIR
1.000__| l__ f 1.000__| 2 500 * SEE MIN. EDGE | B - 5 7
TYP. 2500 TYP. 2 500 = DIST., TABLE T, 1/4” MAX. N N.I ILLINOIS, LLC dba SAFE-AIR DOWCO
2.900 ’ SHEET 1 SHIM 1855 SOUTH 54TH AVE.  CICERO, IL 60804  |—
3)(6)(1 /4n BXXXB/S” Tel. 708-652-9100 Fax 708-652-9100
+ " REV | BY DESCRIPTION DATE
@ALUMINUM ARy 3xXx3 /8" ALUMINUM JAMB_CLIP -
OPTIONAL ATTACHMENT TO UP T0O LUCAS TURNER. FL PE 56201 ;
JAMB CLIPS FOR ATTACHMENT DIRECTLY 127 WALL WITH MOUNTING ANGLE g S soRE
10 SUBSTRATE OR TO MOUNTING ANGLE 2428Oé,?“},“@gﬁHT‘i,ZQSQ%ETRL‘ SHEET DESCRIPTION:  JAMB ANCHORAGE | REV
PH 941-380-1574 DWG: 1606CM~—NOA | 0
A | B [ C { D | E | F ] G ] H 3 K

L



Carlos Utrera
New Stamp


A ] B | D E F G H 3 K L
ITEM PART NUMBER DESCRIPTION
[ 10 C6-139 HEAD, 6063-T6
—T 20 C6-140 SILL, 6063-T6
30 C6-218 FRONT BLADE, 6063-T6
r)‘] r 100 T 1 ’O*OO 080———~— 20 C6-141 JAME, 6063-T6
50 C6-217 STD BLADE, 6063-T6
* 6.001 3.875 60 B2-634 BLADE SEAL
6.000 100 70 TPL10-22 DRIVE ARM, 6063-T6
{ r ' 80 B2-042 JAMB SEAL SS, 6063-T6
C6—139 HEAD I 90 B2-018 LINKAGE PEN/CAM, 6063-T6
1.000 -812 f 100 FORMED BLADE STOP, 6063-T6
T 110 FORMED WATER STOP, 6063-T6
120 C6-168 DRAINABLE HEAD, 6063-T6
@ C6—-140 SILL 130 B2-017 LINKAGE BAR 6 HOLE
2747 140 B2-017A LINKAGE BAR 8 HOLE
150 B2-017B LINKAGE BAR 9 HOLE
151 C6-193 #14 X 1-1/2, 401 SS HEX SCREW
, 152 - INSTALLATION FASTENER, SEE TABLE 1, SHT 1
1 38{7 6.000 153 B7-053 3/8-16 X 1 5 BOLT
g/ 625 _*—I _I 187 ’ 154 B2-537 3/8-16 55 NUT
3.242 155 B2-594 3/8 SS FLAT WASHER
-+— .081 ! f r.1 20 120 1100 156 6-160 2 X 2 ANGLE, 6063-T6
949 SE— S 157 - 3X 6 X 1/4" ANGLE CLIP, 6063-T6
158 - 4X 4X 3/8° MOUNTING ANGLE CLIP, 6063-T6
* 159 - 2 X 1X 1/4" MULL ANGLE, 6063-T6
CE—141 JAMB 160 1/4 20X 1-1/2 55 BOLT
C6—218 FRONT BLADE 161 - 1/4-20 SS NUT
162 - #14 X 1-3/4, 401 S5 HEX SCREW
163 - 3/8 -16 X 1-1/4 SS BOLT
.080 164 - 3 X VARIES x 1/2" ANGLE CLIP, ASTM A 36
_ r 165 - 3 x VARIES x 3/8" ANGLE CLIP, 6063-T6
2.850 o 5 ] *
.012 N 90° 1.500 T
/r_‘};'\ [
170 1.500—1 2.000 PRODUCT APPROVED

82—042 JAMB SEAL SS

A

5.001

50° |

(10 WATER STOP

(90) B2-018 LINKAGE PEN /CAM

~—1.938
;—.080

40°
86"

1.380 X

3.1

DRAINABLE HEAD

BLADE STOP

N

e —

100

L!NKAGE BAR

as compléing with the Florida
Building Code

NOA-No. 25-0415.04
Approval Date 05/29/2025

By
Miami-Dade Product Control

.\;\“R\;‘i
?\
S/ SAFE-AIR
=af - -
:5?-‘4‘\ N.I. ILLINOIS, LLC dba SAFE-AIR DOWCO
TE;% ) 1855 SOUTH 54TH AVE. CICERO, IL 60804
‘%’ :%}}‘ .,.{'Z*’a Tel. 708-652-3100 Fax 708-652-9100
‘ﬁ;‘f}@ff el AR REV [ BY DESCRIPTION DATE
ey ‘% 800 AN
LUCAS TORNER] FL'PE 58201
TURCI\(’EI\TSET%‘[{;’S Elﬁlé\lG & DWN BY: feortinas SCALE: NTS
i DATE: 572772021 SHEET. 8 OF 8
2428 OLD NATCHEZ TRAGE TRL. ST peekeT OV, PROFILES REV

CAMDEN, TN, 38320
PH 941-380-1574

DWG:

1606CM~—NOA 0

J

K L



Carlos Utrera
New Stamp


